Study Guide for Human Body Benchmark part I              Name:                                                Per:
 1. List the correct order from simple to most complex for the level of organization in the human body:

C________________________________________________________________________________
2. The invention of the microscope made it possible to view what structures too small to be seen by the human eye. C______________

3.  The esophagus, stomach and intestines along with the heart, veins and arteries are all organs.  When a group of organs work together, what do these make up?

O_________________S______________________
4. If an animal has evolved only to the tissue level of complexity then what will it lack? O__________ and O______________ S__________________
5. Which organ and organ system helps the body to get oxygen from its environment? L____________ and   R_________________________S_____________________
6. How does the disease, Sickle Cell Anemia, cause the reduction of the distribution of oxygen to tissues in the human body? The disease reduces distribution of  O___________________ to T____________________
7. After running a mile, what changes does one expect in a person’s heart rate and breathing rate? The rates will I__________________
8. List the five functions of your bones?   ____________________________________________
____________________________________         _____________________________________
____________________________________         ______________________________________
9. The biceps are the large muscles of the upper arm. How can you make the biceps appear larger?  B_____________________ the arm upward at the E__________________

10. What causes bones to move? M_________________ C____________
11. A torn tendons prevent the muscles from exerting force on which body parts? B_______________
12.  Explain the functional benefit of the muscle pairs being arranged on opposite sides of the arm. One muscle C_________________  by B______________ the lower arm while the other C_________________  by S___________________________ it.

13. Which part of the human body or joint contains relatively flat bones that use a kind of sliding motion for movement? A___________ B___________ and they are called G________________ joints.

14. A hinge is designed to bend only back and forth. Which body joint is this similar to a hinge?   E_________________or  K________________
15. What is not an example of a movable joint? The S__________________

16. Which type of structure allows the head of a human to turn from side to side? P___________________ joint

17. How is the hinge joint different from the ball-and-socket? Explain with no hints(____________________________________________________________________________
18. In humans which structure produces the eggs? O________________
19. In which part of the female reproductive system does human fertilization resulting in a normal pregnancy take place? F__________________________________
20. What is the mechanism by which a human egg cell normally becomes fertilized? S_____________ cells S__________ from the vagina to an E_______in a F____________________tube.
21. What does the placenta during pregnancy ensure? The F_______________ receives N_______________ from the mother’s  B_____________ cells.

22. What is the function of the umbilicus during fetal development? It provides a strong, flexible P___________way for  B_______________ vessels from the P__________________ to the fetus.

23. If a doctor notices that a woman has two placentas in her uterus when she is about four months into her pregnancy, what should the doctor tell her? You will be having ______________________.

24. When considering the cycle of a typical flowering plant, when does the plant produce fruit?  After F____________________of  E___________  and before the S____________________ are P___________________.
25. Which structure in a plant is responsible for pollen production?  The A_______________
26. When you cut open a fruit what do you usually find? S_______________

27. When a plant or tree depends on a process called cross-pollination in order to reproduce, where must the pollen for that plant come from? From the F____________ or blossom of a D_______________________ plant.

28. Tomatoes are grouped with vegetables at the grocery store; however, what make Botanists classify the tomato as a fruit? It is produced by the O______________ of the flower.

29. In a flowering plant the sperm must be carried from the male parts to the female flower parts. What carries the sperm in flowering plants? The P__________________  by insects or wind.
30. Which lever type are you using when you raise your body up on your toes? S_____________________ C_______________ lever
31. Where would someone position the fulcrum in order to gain the most mechanical advantage to life a box? The C______________ to the F_________________________

32. What part of the lever system in your body is the input force? M__________________
33. What causes blood pressure? The force with which the H_________________ C_______________
34. What is the primary function of the valves between the right atrium and the right ventricle or between the left atrium and the left ventricle? It allows B__________________ to F___________________in one D_____________ from the atrium to the ventricle.

35. If a cardiologist notices a heart murmur during your annual physical exam and that there is a back flow of blood in your heart, what part of your heart is probably NOT working correctly?  Your V_______________

36. Sound waves that enter our ears are turned into nerve impulses. What structure interprets these nerve impulses? The B_____________
37. The eardrum is a thin, flexible membrane which allows the ear drum to do what? V___________________ R______________________

38. What occurs after sound vibrations have been amplified by the hammer, anvil, and stirrup of the middle ear? F____________ in the C________________ is V__________ed

